Applications of Slope-Intercept Form                Name  _______________

(1)
This graph models the total cost of joining a gym.  Write an equation of the line.  Explain the meaning of the slope and the y-intercept of the line.






Step 1:
Find the slope.

Step 2: Find the y-intercept.  Use the slope and one of the points on the graph.

Step 3: Write the equation.

Step 4:  Make a table of  values. (at least 5 ordered pairs)

Step 5: Explain the meaning of the slope and the y-intercept.

(2)
This graph shows the cost of having cable television installed in your home.  Write an equation of the line.  Explain the meaning of the slope and the y-intercept of the line.








Step 1:
Find the slope.

Step 2: Find the y-intercept.  Use the slope and one of the points on the graph.

Step 3: Write the equation.

Step 4:  Make a table of  values. (at least 5 ordered pairs)

Step 5: Explain the meaning of the slope and the y-intercept

Try These 

(1)
The equation y = 50x + 125 models the total cost of joining a climbing gym.  What are the meaning of the slope and the y-intercept of  the line?

(2)
The Ashburn Giant is offering new employee bonuses this week.  Each new employee receives a $50 initial bonus.  The salary is $7 per hour.  Write an equation to model the amount of money you make after x hours.

(3)
The volleyball team runs 2 laps around the track everyday.  After that, they must run one lap for each match lost.  Write an equation to model how many laps they must run based on the number of matches lost.

Make up your own word problem.           Graph and answer the questions below.  


Step 1:
Find the slope.

Step 2: Find the y-intercept.  Use the slope and one of the points on the graph.

Step 3: Write the equation.

Step 4:  Make a table of  values. (at least 5 ordered pairs)

Step 5: Explain the meaning of the slope and the y-intercept
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